KCL

VQ Series Four Layer Pump Ordering Code
VQ R3IPUEERETETES

DVQ22115

DVQ22115 - 65 - 38 -
@ @ @

(D Series Number
BUER
(2) P1:Discharge Port
Shaft End c.c /rev
PLESHO (REIMERT5EE)
P2:Discharge Port
Shaft End c.c /rev
P2HHO
(4) P3:Discharge Port
Shaft End c.c /rev
P3HHO (B EE)
(5) P4:Discharge Port
Shaft End c.c /rev
P3HHO (REESEE)

(6)Mounting Type
ZELGI
F:Flange Type EEHY
L:Foot Type FIEERY

26 - 17 - F -
@ O ®

R-AAAAAA-01-02

@ ®QLOHOBO ®

Discharge Port Position
(P1) Shaft End Pump
(view from Shaft End)
PlHHO (RILE 5 EE)
(9) Suction Port Position
(view from Shaft End)
(SO HENERT5EE)
Discharge Port Position
(P2) Shaft End Pump
(view from Shaft End)
P2HHO (HEIL TS EE)
(11 Discharge Port Position
(P3) Shaft End Pump
(view from Shaft End)
P3O (LTS )
(12) Suction Port Position
(view from Shaft End)
(S2)EmO (EINER 7S e E)
(13 Discharge Port Position
(P4) Shaft End Pump

HAHOTE :

A | Upward (normal) @
B | Downward [@F

R | Right Hand 5Gi&

L |Left Hand Z3i&

(7) Shaft Rotation )
(view from Shaft End) (view from Shaft End)
[ @S Es) PAHO (&I&\iﬂlﬁlﬁlﬁ)
R:Clockwise IBFSSt Shaft Type 01
L:Anti-Clockwise R5gt NBEiES , B3t Al B | C
Port connection variables (02 | P4 01 38.1 | 175 | @15
(P4) H3MIFEEE 02 | 476 | 222 |919.05
Deliver Flow (£ /min) at no-load pressure Running Speed Max Pressure
wmEBNEERE (tpm) g5 (Keflom’ )
Model Running Speed (rpm)  §E5E Max Min se=EH
B 9 1000 1200 1500 1800 BX =40 Cont. | Peak.
06 6.2 7.4 93 112 1800 300 210 240
08 8.1 9.7 12.1 14.6 1800 300 210 240
11 112 134 134 20.1 1800 300 210 240
14 143 17.1 215 25.7 1800 300 210 240
VQlIs 17 17.1 205 25.6 30.7 1800 800 210 240
(P4) 19 192 23.0 28.8 345 1800 300 210 240
23 233 27.9 34.9 41.9 1800 800 210 240
26 26.1 313 39.1 46.9 1800 800 210 240
31 311 373 46.6 — 1500 300 175 240
06 6.2 74 93 1.2 1800 300 210 260
08 8.1 9.7 2.1 14.6 1800 300 210 260
11 1.2 13.4 13.4 20.1 1800 300 210 260
4 143 17.1 215 25.7 1800 300 210 260
17 17.1 20.5 25.6 30.7 1800 800 210 260
DVQ20 [ 19 192 23.0 783 345 1800 800 210 260
P2-p3)[_23 233 279 349 419 1800 300 210 260
26 26.1 313 39.1 46.9 1800 300 210 260
32 32.1 383 47.6 — 1500 300 175 240
34 34.1 40.8 50.4 — 1500 300 175 240
33 38.1 45.9 — — 1200 300 75 240
44 44.1 52.9 — — 1200 300 175 210
18 18.1 21.7 272 32.6 1800 300 210 260
22 22.1 26.5 333 39.8 1800 300 210 260
26 26.2 314 393 47.1 1800 300 210 260
32 321 385 481 57.7 1800 300 210 260
DvQ2s |38 382 458 573 68.7 1800 300 210 260
13 B2 518 64.8 717 1800 300 210 260
(P1) %7 271 36.5 70.0 85.0 1300 800 210 260
52 523 62.7 78.4 94.1 1800 300 210 260
60 60.2 727 90.3 1083 1800 300 210 260
65 653 783 97.9 1175 1800 300 210 230
75 75.0 90.0 112.5 — 1500 300 210 230




KCL

VQ Series Four Layer Dimensional Drawing

VQ RIIMEIRANER TE

SUCTION PORT @ 30.8
s2) DISCHARGE PORT @ 19 DISCHARGE PORT @ 25
(72) (P1)
DISCHARGE PORT @ C 12
(P4) DISCHARGE PORT 0 15 SUCTION PORT @ 56 11,95

(Sl)\

a
,, _8g
F<
~ 3
© 23
g < : et s
[\l
[
,, gj s
p P1
222 P2 \ 4-M10x1.5P
P4 S2 4-M10x1.5P DEEP 17
4-M10x1.5P 4-M10x1.5P DEEP 17 S1
DEEP 17 DEEP 17 P3 4-M12x1.75P
4-M10x1.5P DEEP 19
DEEP 17
= A B]|C
P4 | o1 | 381 ] 175|015 - .
_po_pa. Peak.:260 Kg/cm . Peak. :240 Kg/cm
02 47.6 | 222 [019.05 PI=P2=P3: cont. - 210 Kg/em? P4 Cont. : 210 Kg/cm?
549.8
9.5
544 649 94 95.5 104 381 61
B | ‘Pz (S1) 1 58 KEY 7.0
[p4)  [(s2) (p3) [P }(Pl) " 0 o0
1 e e o | | [ 1]
B 8 | A
e 2 N /?g o§
al L ) ) = ) = TR i
- Ai 2
[
B g5 | =1
171 NO 1 Shaft
146

126

N

2-0 13.5 HOLES
@21 SPOTFACE 1 DEPTH




